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Set :- A 

 

 

Time :- 3 Hours  General Instructions   Full Marks :- 300

1  This question booklet contains 100 questions. Divided into four sections Section A, Section B, Section 

C and Section D. 

2 Each section contains 25 multiple choice questions with only one option correct. Chose the most 

appropriate option. 

3 Each question carry 3 marks for correct response and no marks will be awarded/deducted for 

unanswered/ wrong answers. 

4 The OMR will be graded by machine so do not fold or make any stray marks on the OMR sheet. 

5 The bubbles on the OMR sheet should be filled completely with black ball pen. Do not hard press the 

pen on the OMR sheet.  

6 Fill the required fields in the OMR sheet. Incomplete OMR sheets will not be considered for 

evaluation. 
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Rough Space 

SECTION – A 

1. Which of the following graph is possible?  
   

  

  

  

 

 

 

 

 

 

2. A ball is dropped from a height h. A second ball at the same time is thrown upwards with a velocity u. 

At what time will they meet?  

h u 
  

(a) 
𝑢

ℎ
       (b) 

ℎ

𝑢
     

(c)  
2ℎ

𝑔
       (d) cannot be predicted 

3. An object of size 7 cm is placed at 27 cm in front of a concave mirror of facal length 18 cm. At what 

distance from the mirror should a screen be placed so that a sharp focused image can be obtained? 

  

(a) 54 cm  (b) 64 cm  (c) 27 cm  (d) 108 cm  
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Rough Space 

 

4.  

 

 The equivalent resistance between X and Y is   

X Y    

(a) R   (b) R/2   (c) 4R   (d) 2 R  

5. An ultrasound signal of frequency 50 kHz is sent vertically into the sea water. The signal gets 

reflected from the ocean bed and returns to the surface 0.80s after if was emitted. The speed of 

sound in sea water is 1500 m/s. Find the depth of the sea?  

kHz 

m/s  

(a) 600 m  (b) 0.06 km  (c) 6 x 105 cm  (d) None   

6. Magnetic field lines start  
  

(a) on N-poles N -    (b) on S-poles  S -    

(c) on current carrying wires   (d) No where    

7. Along the direction of current carrying wire, the value of magnetic field is?  
  

(a) Zero       

(b) infinity      

(c) Depends on the length of wire     

(d) Uncertain    

8. Which of the following relations is correct as per Kepler’s law?  
  

(a) 𝑟3  ∝ 𝑇2   (b) 𝑟3  ∝
1

𝑇2   (c) 𝑟2  ∝ 𝑇3       (d) 𝑟2  ∝
1

𝑇3   
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9. What is the work done by the force of gravity on a satellite moving round the earth?  
  

(a) infinity      (b) zero     

(c) 
𝐺  𝑚1𝑚2

𝑟2  x 2πr     (d) None   

10. If the refractive indices for water and diamond relative to air are 1.33 and 2.4 respectively then the 

refractive index of diamond relative to water is   

  

(a) 0.55   (b) 3.19   (c) 1.80    (d) None    

11. A person cannot see objects clearly beyond 50 cm. The power of the lens to correct the vision is  

  

(a) + 5D   (b) – 0.5 D  (c) + 2D   (d) – 2D  

 

12.  

 

 In the circuit shown above the ammeter A reads 4 amp. and the voltmeter V reads 20 volts the value 

of the resistance R is   

A 4 amp. R   

(a) slightly more than 5 ohms ohms     

(b) exactly 5 ohms ohms   

(c) slightly less than 5 ohms ohms     

(d) None   
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Rough Space 

13. Specific resistance of a wire depends upon   
  

(a) Length of the wire   (b) resistance of the wire   

(c) area of cross section   (d) material of the wire  

14. Which of the following statement is/are false?  
   

(i) An electric motor converts mechanical energy into electrical energy  
     

(ii) An electric generator works on the principle of electromagnetic induction  
       

(iii) In a DC electric motor a pair of split rings is used as commutator.  

       DC   

(iv) Induced current will appear in such a direction that it opposes the change that produced it.    
        

(a) i, ii   (b) ii, iii, iv  (c) i only  (d) None   

15. A copper ring having a cut such as not to form a complete loop is held horizontally and a 

bar magnet is dropped through the ring with its length along the axis of the ring. Then 

the acceleration of the falling magnet is (neglect air friction)  

 

(a) g    

(b) less than g  g    

(c) more than g  g    

(d) 0  
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Rough Space 

16. The equivalent resistance between points X and Y.  

X  Y   

 

 

 

 (a) 9 Ω   (b) 6 Ω   (c) 8/3 Ω  (d) 3 Ω  

17. Twinkling of stars is an account of    
   

(a) Large distance of stars and storms in air   

(b) Small size of stars   

(c) Large size of stars   

(d) Large distance of stars and fluctuations in the density of air 
  

18. Most of the sources of energy we use represent stored solar energy. Which of the following is not 

ultimately derived from sun’s energy   
 

(a) geothermal energy   (b) wind energy   

(c) nuclear energy    (d) bio mass   

19. A bullet of mass 10 g travelling horizontally with a velocity of 150 m/s strikes a stationary wooden 

block and comes to rest in 0.03 s. Calculate the magnitude of the force exerted by the wooden block 

on the bullet.   

m/s 

 

(a) 50 N   (b) 65 N   (c) 89.8 N  (d) None   

20. An artificial satellite is moving in a circular orbit of radius 42250 km. Calculate its speed if it takes 24 

hours to revolve around the earth.   

 

(a) 2.01 kms-1  (b) 3.07 kms-1  (c) 1.5 kms-1  (d) 4 kms-1  
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𝑖 

Rough Space 

21. Which pole will be formed in the following fig.  
 

(a) N-pole   

(b) S-pole   

(c) both   

(d) cannot be predicated  

22. A person standing at some distance from a mirror finds his image erect, virtual and of the same size. 

Then the mirror is possibly.    
 

(a) concave mirror    (b) plane or concave mirror   

(c) plane or convex mirror  (d) None   

23. Masses of 3 wire of same metal are in the ratio 1 : 2 : 3 and their lengths are in the ratio 3 : 2 : 1. The 

electrical resistances are in ratio  

  
 

(a) 1 : 4 : 9  (b) 9 : 4 : 1  (c) 1 : 2 : 3  (d) 27 : 6 : 1  

24. A man pushes a wall with a force of 10 N then the wall pushes the man with    

N  

(a) 10 N   (b) 20 N   (c) 0 N   (d) infinity   

25. A balloon is rising with constant acceleration 2m/s2. Two stones are released from the balloon at the 

interval of 2 sec. Find out the distance between the two stones 1 sec. after the release of second 

stone?   

2m/s2 
  

(a) 24 m  (b) 36 m  (c) 48 m  (d) 60 m  
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Rough Space 

SECTION - B 

1. Which of the following reaction is used in black and white photography?   
  

(a) CaO + H2O → Ca(OH)   (b) ZnO + C → Zn + CO  

(c) 2 AgBr                   2 Ag + Br2  (d) Zn + CuSO4 → ZnSO4 + Cu  

2. Which of the following is not an olfactory indicator?   
  

(a) Vanilla    (b) Turmeric   

(c) Clove oil    (d) Onion   

3. Antioxidants help to    
  

(a) Prevent reduction of substances   

(b) Increase the rate of oxidation    

(c) Decrease the rate of oxidation    

(d) Cause rancidity of fats and oils    

4. Which of the following do not react either with cold water or hot water?   
 

(a) Calcium  (b) Potassium  (c) Aluminium  (d) Magnesium  

5. Which of the following pairs of elements can form amphoteric oxide?  
 

(a) Carbon and aluminium   

(b) Aluminium and sodium   

(c) Zinc and Potassium  

(d) Aluminium and Zinc   

6. pH of blood is    

pH   

(a) 6.8   (b) 7   (c) 7.4   (d) 6.6  

 

 

 

 

 

 

 

Sunlight 
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Rough Space 

7. Which of the following cannot conduct electricity?  
  

(a) Distilled water    (b) Rain Water    

(c) HCI solution  HCI    (d) Sea Water   

8. Which of the following elements has the highest electronegativity?  
  

(a) Oxygen   (b) Carbon  (c) Magnesium  (d) Nitrogen  

9. According to Newlands’ Law of Octaves, carbon has properties similar to that of    

 

(a) Sodium  (b) Aluminium  (c) Silicon  (d) Titanium  

10. Which acid is used as ink-stain remover?  
   

(a) Oxalic acid    (b) Tartaric acid    

(c) Acetic acid    (d) Boric acid   

11. 2.12g of an impure mixture containing anhydrous sodium sulphate  dissolved in water. An excess of 

barium chloride solution is added and 1.74 gram of barium sulphate is obtained as a dry precipitate. 

Calculate the percentage purity of the impure sample.  

 

(a) 70%   (b) 36.7%  (c) 50%   (d) 82%  

12. A compound contains carbon 14.4 %, hydrogen 1.2 % and chlorine 84.5 %. Work correct to 1 decimal 

place. The relative molecular mass of the compound is 168. Find its molecular formula.  

 

(a) CHCI2  (b) C2H2CI2  (c) C2H2CI4  (d) CHCI4  

13. While cooking, if the bottom of the vessel is getting blackened on the outside, it means that  
  

(a) the food is not cooked completely    

(b) the fuel is not buring completely   

(c) the fuel is wet   

(d) the fuel is buring completely 
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Rough Space 

14. When extracted from lichen, the colour of litmus solution is   
  

(a) Blue      (b) Red     

(c) depends on acid or base  (d) None   

15. In the liver, methanol is oxidized to   
   

(a) Methane     (b) Methyl pyridine   

(c) Methanal     (d) No reaction occurs.  

16. In the presence of which catalyst, unsaturated hydrocarbon gets converted into saturated 

hydrocarbon?   
  

(a) Palladium     (b) Copper    

(c) Potassium permanganate  (d) Both (a) and (c) (a) (c)   

17. Which of the following compound is used in soda-acid fire extinguisher?  
  

(a) Na2CO3     (b) NaHCO3   

(c) NaCOOH     (d) Any of this can be used  

18. Calculate the number of moles of zinc [Zn2+] ions and oxide [O2—] which will be obtained from 162 

gram of ZnO, [Zn = 65, O = 16]   

ZnO [Zn2+] [O2—] [Zn = 65, O = 16]   

(a) 2, 4      (b) 2, 2    

(c) 4, 2      (d) None   

19. Why does carbon form long chain compounds?   
  

(a) Catenation     (b) Tetravalency   

(c) Allotropy     (d) Both (a) and (b) (a) (b)   

20. Food cans are coated with tin but not with zinc because    
 

(a) Zinc is costlier than tin.   

(b) Zinc is more reactive than tin.    

(c) Zinc is less reactive than tin.   

(d) Both (a) and (c) , (a) (c)   
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Rough Space 

21. 10 mL of a solution of NaOH is found to be completely neutralised by 8 mL of a given solution of HCI. 

If we take 20 mL of the same solution of NaOH, the amount of HCI solution required to neutralised it 

will be    

10 mL NaOH 8 mL HCI 20 mL  NaOH 

HCI   

(a) 22 mL  (b) 16 mL  (c) 8 mL   (d) 11 mL  

22. Propane molecule contains  
  

(a) 12 covalent bonds   (b) 10 covalent bond   

(c) 8 covalent bonds   (d) 9 covalent bond   

23. Elements in the same vertical group of the Modern Periodic Table have same   
  

(a) Number of electrons   

(b) Atomic number   

(c) Number of valence electrons    

(d) Electronic configuration   

24. Unsaturated hydrocarbons on treating with H2 in the presence of palladium form saturated 

hydrocarbons. This is an example of    

H2 
  

(a) Addition reaction   (b) Substitution reaction   

(c) Displacement reaction  (d) Decomposition reaction   

25. Identify the liquid amalgams from the following?   
  

(a) Zn/Hg  (b) Na/Hg  (c) Cu/Hg  (d) Pb/Hg  
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SECTION - C 

1. Which of the following organel is not common between plant all and animal cell?  
  

(a) Mitochendra  (b) Plastid     

(c) Lysosome     (d) All of the above 

2. Plasmolysis will take place in which type of cell   
   

(a) Animal cell   (b) Plant cell    

(c) Both (a) and (b)    (d) None   

3. Which tissue helps in increasing the girth of the plant?   
   

(a) apical meristom    

(b) Lataral meristom    

(c) Intercalar meristom     

(d) all of the above 

4. The process by which meristematic tissue converted in to permanent tissive is known as    
 

(a) Differentiation     (b) Dedifferentiation    

(c) Crenation     (d) Redifferentiation  

5. Which of the following is connective link between plant and animal?  
  

(a) Ameeba     (b) Paramicium    

(c) Euglina     (d) Virus   

6. Which of the following character is common between fungai and plant both   
  

(a) cell wall     (b) photosynthetic nature   

(c) Saprophytic nature   (d) all of the above   
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Rough Space 

7. Plants are   
   

(a) Primary consumer   (b) Secondary consumer   

(c) Decomposer     (d) Producer   

8. Which of the following plant is parasitic in nature  
   

(a) Pitcher plant    (b) Cuscuta    

(c) Mushroom     (d) all of the above   

9. Which of the following is helpful for incrasing the production of crops as well as maintain the duality 

of soil?   
  

(a) Green manure     (b) Biofertilisers    

(c) Mycorrhiza    (d) all of the above 

10. In dicot plant. Chloroplasts are mostly abundant on which surface of leaf.  
  

(a) upper surface   (b) Lower surface    

(c) same on both surface   (d) None of the above   

11. Which pigment is responsible for non-green colour in plant leaf   
  

(a) Chlrophylls    (b) Carotenes      

(c) Xanthophylls    (d) Both (b) and (c) ((b) (c) ) 

12. Stomatal opening in plant leaves are controlled by   
   

(a) Chloroplast    (b) Subsidiary cell   

(c) Guard cell    (d) Stomatal opening   
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Rough Space 

13. More glucose in plants are reserved as    
   

(a) starch      (b) glycogen    

(c) fat      (d) protein 

14. Which of the following is common between stomata and lenticels.  
  

(a) Both occure on leaves    

 (b) Both help in photosynthesis    

(c) Their opening and closing are not controlled   

(d) Both help gaseous exchange   

15. Which component of xylem is living?   
  

(a) Fibre      (b) Tracheid     

(c) vessel     (d) Xylem Parenchyma

16. Which of the following is excreatory product of plants?   
  

(a) Latex     (b) Resin    

(c) Tannin      (d) All of the above 

17. Which of the following system is absent in plants?  
  

(a) Nervous system    (b) Respiratory system     

(c) Excreatory system   (d) Transport system    

18. Bending of plant parts toward. Sunlight is an example of   
   

(a) Negative phototropic  (b) Positive phototropic   

(c) Positive geotropic  (d) Negative phototaxis   
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19. In which of the following plant. Vegetative reproduction takes place through leaf.  
 

(a) Bryophyllum     (b) Begonia    

(c) Onion      (d) Both (a) and (b) (a)  (b)   

20. Bending of plants towards light occur due to which harmone?   
  

(a) Auxin     (b) Cytokini     

(c) Giberellin     (d) Ethelene    

21. “Albuminous cell” is found in which division of plant   
   

(a) Thallophyta    (b) Bryophyta     

(c) Gymnospexm    (d) None of these   

22. Which pigment is known as “universal pigment”   
  

(a) Chlorophyll A A    (b) Chlorophyll B B    

(c) Chlorophyll C C    (d) Xanthophyll  

23. “Pitcher plant” feeds on insects to fulfill the requirement of which element:-   

“ ”  

(a) Nitrogen     (b) Hydrogen    

(c) Boron      (d) Magnesium  

24. Phloem transports food in which direction:  

   

(a) Upward     (b) Downward      

(c) Lateral     (d) All of these    

25. In the following which reaction is correct:-  

   

(a) 6CO2 + 12H2O → C6H12O6 + 9O2  (b) 6CO2 + 6 H2O → C6H12O6 + 6O2  

(c) 2CO2 + 12H2O → 2C6H12O6 + 12O2  (d) 24CO2 + 24H2O → 4C6H12O6 + 4O2  
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SECTION – D 

1.  Which statement is incorrect for Prokaryotic cell.  
  

(a) Membrance bound cell organell are absent    

(b) it contains single chromose    

(c) Nuclear membrance is present   

(d) Nuclealus is absent   

2. Which of the following organell is known as ‘Factory of ribosomes’.  
  

(a) Golgi body    (b) Nucleus   

(c) Nuclealus    (d) Centrosome   

3. Basement membrance are present in   
  

(a) Epithelial tissue    (b) Nervous tissue   

(c) Connective tissue   (d) All of the above   

4. Which of the following is connective link between annelid and Mollusca?  
  

(a) Peripatus     (b) Neopilina    

(c) Golchidium larva   (d) Echidna   

5. Which muscular tissue helps in peristaltic movement?   
  

(a) Striatod muscles    (b) Smooth muscles   

(c) Unstriped muscles   (d) Both (b) and (c) ((b) (c) )  

6. When D.D.T. is spread on corps then D.D.T. concentration will be maxium in   

D.D.T.   

(a) Grass hopper     (b) Rat     

(c) Eagle      (d) Same in all level    
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Rough Space 

7. Which of the following is character of Drone bees?  
   

(a) Diploid, sterile male  (b) Haploid, sterile female   

(c) Diploid, Fertile male  (d) Haploid, fertile male  

8. In which of the phylum ‘nematocysts’ are present?  
   

(a) Porifera     (b) Coelenterata    

(c) Mollusca     (d) Anndida   

9. Sea-horse is an example of  
   

(a) chondrichthyes    (b) Osteichthyes   

(c) Mammalion     (d) Amphibia   

10. By which enzyme maltose is digested?   
  

(a) Lysosome     (b) Ptyline   

(c) Pepsin     (d) Renin   

11. Bile juice is secreted by which gland?   
  

(a) Liver      (b) Gall bladder   

(c) Stomach     (d) none   

12. Which enzygme is used in the process of fermentation by yeast?    
 

(a) ATPase     (b) Zymase   

(c) Ptylin     (d) All of these   

13. In which of the following Mitochondria is not found   

   

(a) R.B.C. of human       

(b) Liver cell of human    

(c) Nervous tissue of human      

(d) Intestine of frog.   
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14. Which W.B.C. is maximum in number?    
 

(a) Basophiles     (b) Lymphocyte    

(c) Neutrophiles     (d) Monocytes.   

15. In which group virus is placed  
    

(a) Prokaryotic    (b) Eukaryotic   

(c) Monera     (d) None of these  

16. Radial symmetry is found in    
  

(a) Amoeba     (b) Star fish   

(c) Fishes      (d) Snail   

17. Which group of animal is only found is oceans?    
 

(a) Porifera     (b) Pisces   

(c) Mollusca     (d) Echinodermata  

18. AIDS is caused by   
   

(a) Herpes virus    (b) Rota virus   

(c) HIV virus  HIV     (d) All of these   

19. When “AIDS” day is celebrated    
  

(a) 5 June     (b) 8 Octuber  

(c) 11 July     (d) 1 December   

20. Which cell produces antibody?   

  

(a) Monocytes    (b) Lymphocytes   

(c) Neutrophiles     (d) All of  these  
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21. Nitrate is converted into nascent nitrogen by the process of   
   

(a) Ammonification    (b) Nitrification   

(c) Denitrification    (d) Nitrogen fixation   

22. Which breed of cow is formed by the fusion of Tharpakar and Hotlstinefrezine   
 

(a) Karan Swis    (b) Karan fries   

(c) Frieswal     (d) Jersey   

23. Which of the following is not micro-nutrient   
   

(a) Mangenese     (b) Phosphorous   

(c) Iron      (d) Copper   

24. Which organism is used in the formation of  vermicompost?  
   

(a) Insect      (b) Mollusca   

(c) Protozoa     (d) Earthworm   

25. Which of the following is the cause of “bird flu”?  
  

(a) Virus      (b) Bacteria   

(c) Fungi      (d) Deficiency of nutrients.  
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